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Part-I (Botany)
(2 Sod 2 Bfew Feaa)

1. Name the edible part of an apple. 1

QAT BR AMIR TN fEal

2.  Why grafting is not possible in monocot plants ? - : 1

GFAGea! SEere (TR T 7SI 927 W ¢

3. Name the micro-organism that converts milk to curd. - -1

SIS 7 Co1 FoAT I WYS o NN Al |

4.  What is the function of DNA ligase ? ' . 1

& @q @ =T I & 2

5. What is missing link ? Describe briefly with an éxample. 1+1=2
mw%ﬁmﬁs?m@mmwaﬁﬁm /'
| Or / &4l - |
Define Recapitulation theory with examples. _ - 2
SR SRS TR FR@ |

6. = What is transgenic plant ? Mention two advantages and ore example of

transgenic plant. 1+1=2

R SR A 5 ¢ e SE 10 SR S by Sl

-
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Or/ @2y
Write on the importance of biopiraéy. 2

TEREIARIeN wed A o

7.  Differentiate allelopathy and antibiosis. . 1+1=2
TR S afGafeed sjAdead 11|
Or / G4

What is age pyramid ? Draw . the expanding age pyramid and label its
parts. 1+1=2

= Praifire Wi F 2 Rerd Prifies B s o e fofze w1

8.  Write short note on the following : (any one) ' | ‘ 2

59 Gt ot : (e «br)
(1) Gene gun ‘ | k
(ii) - Tools of genetic engineering
- fe wfogdr ezt
(i) Gene cloning
fom TR
9.  What are the éonditions of biopatent ? | ‘ 2

\ .

| e 5 T B g
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10.

11.

Or / 993}

Write about the function and principle of ELISA technique. 2

ELISA sf&FaR s o 521 g o

Write scientific name and utility of the following plants: (any two)

1+1=2
were fral STz @wifFe AW s 9] @ (Rt i51)
(n) Teak
Wi
(b) Indian ginseng
LR
(c) Chinchona
et
(d) Sissoo
. f%gi ’
Write briefly the chemical origin of life on the earth. . 3

4TS S TR Seotfer Fraca ST B
Or / 24

“Survival of the fittest”, explain the statement with the help of Darwin’s

theory. : 3
“ QIO BeIEN”, TR ToAMT FAYTS G2 Gie ) 41 |
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12.

13,

14.

What is tissue culture ? Write the advantages of tissue culture.
1+2=3

Wﬁﬁs?aﬁwﬁ%aﬁmm{qﬁw

Or/ 94t

What is meant by somatic hybridization ? Give an account on necessary

steps of the method with an example. . : 1+2=3

IR g WA & gomm 2 «@ft TrrzaerTz @2 2fFars SRS B AR 3¢
fran

Define fermentation and describe briefly how alcohol is produced in this

process. _ . 1+2=3

foem aiferme ke fran =i @R SAwfos R (AT e T W R 5 31 faa |
'Or/WQMT

What are biopesticides ? Write briefly on biopesticides with examples.
‘ | 1+2=3

o AT B 2 SRR (SRS [acw e

What is double fertilization ? Describe the process with diagrams from the

stage of megaspore formation to zygote formation. - - 1+4=5

fa-Feaea & 2%&‘@@&%@«% G (I NI AT 3 B |

’

29T BIOL (BOT-ZOO) [5] _ Contd.



Or / 923!

Why meiosis is essential at the time of sporogenesis in angiospernis ?
Explain the process of development of male gametophyte in angiosperms

with suitable diagrams. 1+4=5

SoTIE S [ TS ZINT RO SRS J ? eafE) SR
TR T %S Toge ez m 11

L

15. What is genetic engineering ? Describe the major steps of gene cloning

technology. | 1+4=5
o wifomg & ¢ Re e ofve aum <1921 a¢dqr |
Or / 9t

Write an account of biotechnological applications in medicine. 5

%&Wﬁ%@mﬁﬁmﬁmﬂmﬁ%aﬁﬁmt
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Part-1I (Zoology).
(fESm=ied ¢ iftfEes=)

1.  Fill in the blanks: (any two) 1x2=2

A NE 7G I 3 (Reear gbr)

(n) Anterior part of sperm is called

S (PIE e e o =@

(b) Archaeopteryx is a connecting link between.reptiles. and

SRFr AR 21 ot

I AL TR |

(c) Genetic constitution of an organism is called

_Wéﬁﬁ«@aﬂﬁ|

(d) Cancer causing viruses are known as

T Al e oz R @ o) =

2.  Answer any two : ' , . 1x2=2

e 7613 O] & ¢

(1) What is interspecific hybridization ?

e e & 2
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(b) What are the restriction enzymes ?

BNE (5 SRR C e B R P S

() What is the first infective stage of malarial parasite in man ?

TR (TS CIEIA 2GR AL FRFNE 7ot 5 2

(d) What is ex-situ conservation ?

I Awwd [ 2

3.  Answer any four: A 2x4=8
fRizizar b1f4019 Tes f&di 8

(n) What are the significance of crossing over ?

Higesifeq awg & ¢

(b) Write briefly on haemophilia.
e rEmr Rew sgee &

() What do you mean by adaptive radiation ?

S IR I g 2

(d) Write the various components of immune system.

S wEd fRfen Semin T B |
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(¢) Write the various causes of water pollution.

oI e Rfew wRd g o

(N What are the factors of population growth ?

iR 3R PR & S 2

4.  Write differences between : (any two) v 2x2=4

Rl 7519~ B 2

(a) Parturition and lactation

PR W AT

-

(b) Down's syndrome and Klinefelter's syndrome. |

(¢) Vaccination and immunisation

2952 DRCIE A HRCRRISST!
(d) Convergent evolution and divergent evolution
SR AR A TAAN TR |
5. . Draw a neat labelled diagram of a human sperm. 2+1=3

oS s wEeR SRR Bire ba st
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Or / §2qt

Diagrammatically express the Watson-Crick's semiconservative models of

DNA replication. T .

SG6H i (&1 WifEe DNA I &% 730Fs afsgiosaeR bam v o 31|

6. What are sexually transmitted diseases ? Write its various types of

preventive measures. ' : I 1+2=3

foiRst FifR® @9 A (NES I @A ?L‘ﬁc?m LICIEIRE Wﬁsﬁw
Or/ W’?f?f R

Write the various methods of cancer detection and aiaglxoéis. 3

LN iy oiE BaresR afeET Bt

7. Describe about the Pedigree analysis. 3
IR oS Rogmat srafert 2k =11 - _

Or / §f
Describe about the 'greenhouse' effect. _ 3

CTBTJE, 2SI FTACE 31 3 |

8. Describe the Mendel's laws of inheritance. . "« B

(TOSER IS AARIT 8 FZ I T4 | -
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‘Or/ 9Yq!

'DNA is a genetic material', explain the statement with the help of Alfred
Hershey and Martha Chase experiment. ' o . 5

‘. @, @ 2 Bellw Ty, SReH! T g o Wef (I AR TS
[ F9 |-

9.  Describe the process of the flow of energy in different trophic level of an

ecosystem. | 5
RS o WBr Rfer (Mfts T3 =& earr afear 3 =

Or / g3t

What is ecological pyramid ? Explain different types of ecological pyramid
with diagram. ' 2+3=5

e Praifie & 2 ﬁf@'«%%’aﬁwmﬁwﬁmﬁmww
= | | '
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